Algebra 2

Name

© 2010 K1~ {0+ -G O — it Wm e G Lyl G A b roit

(a) Write the polynomial in standard form.
terms. (c) Describe the end behavior.

1) 95 + 28

a) Standard form:
b) Classification:

¢) End Behavior:

3) 2x® —3x*

a) Standard form:
b) Classification:

c) End Behavior:

5) 9r+38

a) Standard form:

b) Classification:

¢) End Behavior:

7) 7-10n7

a) Standard form:

b) Classification:

c) End Behavior:

9) 2b+2b* —9b° + 5b°
a) Standard form: '

b) Classification:

c) End Behavior:
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(b) Classify the polynomial by degée and nungsr of

2) —2x%—14+3x

a) Standard form:
b) Classification:

c) End Behavior:

4) -4 - 8b
a) Standard form:
b) Classification:

¢) End Behavior:

6) —5m’

a) Standard form:
b) Classification:

¢) End Behavior:

8) p*+2p°

a) Standard form:

b) Classification:

¢) End Behavior:
10) Om’ —m® — Tm*
a) Standard form:
b) Classification:

¢) End Behavior:
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1) k

a) Standard form:
b) Classification:

c) End Behavior:

13) —2b6* —2b7 — 6 - 3b*

a) Standard form:
b) Classification:

¢) End Behavior:

15) —9n* - 10
a) Standard form:

b) Classification:

c) End Behavior:

17) 91— 6 —5n> — 9n?
a) Standard form:

b) Classification:

c) End Behavior:

19) —3n+ 8x> - 2n*

a) Standard form:
b) Classification:

¢) End Behavior:
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12) 9 +7b+3b -3

a) Standard form:
b) Classification:

c) End Behavior:

14) 4+ 8x

a) Standard form:
b) Classification:

c) End Behavior:

16) —6p° - 5p? —4+7p3

a) Standard form:
b) Classification:

¢) End Behavior:

18) —8x + 7x> — 5 + 4x’
a) Standard form:
b) Classification:

c) End Behavior:

20) -7p* -3p°

a) Standard form:
b) Classification:

¢) End Behavior:
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SLOT Practice - Mean, Median, Mode & Range
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Find the mean, median, mode and range for each data set. j hfj v [,L g ”/, £ ru e &S Hae szL

D Test Scores 2) Mmutes to Run 5km
36 52 43 53 43 49 57 36.4 21.3 41 25.6 447
48 50 47 52 51 50 49 31.6 32.6 27.5 25.9 26.8
52 52 38.9 40.4 38.9 27.9 363
. . 36.1  45.6
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42 a4 46 48 50 52 54 56

Score 68 70 77 74 76
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5) Average Lifespan
Animal Years Animal Years Animal Years Animal Years
Cat 25 Galapagos Land Tortoise| 193 Chimpanzee 40 Wolf 18
Boa Constnctor 23 Lion 35 Pionus Parrot 15 Pig (wild) 25
Nutrxa 15 Fox 14 Tiger Salamander| 11 Bat 24
Wombat ‘ 15 Ox 20  Domestic Pigeon | 26 Grizzly bear| 32
Sulphur Crested Cockatoo| 40
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Factor each trinomial below. Find your answer and notice the letter next to it. ;i"-g ~
Write this letter in the box containing the number of that exercise. Keep working '-='-_'.l
and you will get the gripping answer to the title question. u‘-u

(1) n?+6n+5 2+ 10t + 16 @9 a?+ 5ab + 6b>

(@) n?+7n+10 (9) t2—15t+50 a® — 4ab — 21b?

(3) n?-7n+12 2 +8t—9 (7) a®+6ab—7b?

(4) n?—11n+28 (1) #-7t-30 (9 a®- 14ab - 320

(5) n?+2n-15 { (12 2-t-30 (9 a®-—29ab + 100b

(8) n?~5n-24 { (19 #+14t+48 ©0) a®+ 7ab — 18b?

(7) n?+n-56 i (19 2 +8t—48 @) a®+2ab + b
Answers: | Answers: Answers:

L (+2)n+6) (N) t-6)t+5) (K) (a—8b)(a+ 4b) .

(H) (n+5)(n-3) (V) (t-25)t+2) (H) (a+7b)a-b)

W) (n+5)n +1) (™) t-5)t-10) (A) (a—20b)(a + 5b)

® -3)n-4) (T) @+6)t+8) (E) (a+ 2b)a+3b)

B (-1n+15) | (O @t-10)t+3) W) (a+9b)(a— 2b)

(S) (n+8)n-7) (t+15)(t~2) (T) (a-7b)(@+3b)

H) (n+2)n+5) () @+8)t+2) (O) (a—25b)(a— 4b)

E®) (n-8)(n+3) ) t-ait+12) (S) (a+6b)(a+3b)

R (n-12)(n-2) (S) t+9)t-1) (N) (a+b)@a+b)

N) (n~7)(n-4) (A t—24)t+2) (R) (a- 16b)(a +2b)
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ALGEBRA WITH PIZZAZZ! OBJECTIVE 3-n: To factor trinomials of the form x? + bx +¢,
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